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Here is a one group of four cards in the Grade 8 deck that
In this set of four cards, students apply the Pythagorean %

theorem to determine the unknown side length in right
triangles and find the measurement of an unknown

all have the same answer, 20.
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A bulletin board measures 4 feet by 2 i
How many index cards measuring 4 inches by
will cover this bulletin board?

This prism measures 16 inches by 6 inches by on How many square inches is the area of this trapezoid?
How many cubic inches is the volume of this
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A rectangular pool deck measures 3 feet wider than | A rectangular playground has an area of 3588 sq A new puppy’s play area is parallelogram-shaped. H How many cubic centimeters is the surface area
swimming pool on all sides. If the pool measures 22 fix The width of the playground is 13 yard: of fencing will the puppy's owner need to keep of this rectangular prism?

many square feet is the area of the pool de
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Your team has the same answer as the perimeter o inches is the surface area of this cube?
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how does the volume change?
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What is the correct value for the area of this para

(Your partners have the same letter answer as

One of these statements describes the faces of a b
Select the true statement

[Your partners have the same letter answer as

Select the correct value for the area of this isoscel( Select the correct value for the area of this right triangle,

(Your partners have the same letter answer as {Your partners have the same letter answer as you da.)
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The white region represents an isosceles tri
How many square centimeters is the area of the shi

(Be ready to explain your thinking to your t

My teacher's bulletin board measures 1008 squa
She wants to cover her board with 4 in. » & in. indg
no gaps or overlaps. How many index cards will

A rectangular prism has a length of 10 ing
a width of 1 inch, and a height of 1 inct
‘What is its surface area in square inche

An equilateral triangle has a side length of T 1f the length of
each side of the triangle is doubled, how many units will
the perimeter of the new triangle be?
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Find the fourth vertex that creates a rectar
‘What value represents the area of the rectal

This box measures 9 x 9 % 11 units.
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Suppose you enlarge this rectangle by a scale £ How many degrees does angle x measu Two parallel lines are cut by a transversal, Given thg This representation of a rectangular yard has been reduced by a
‘How many feet will the perimeter of the enlarged angle is 1307, how many degrees is angle scale factor of 2 cm for every § m. How many square
{Share your thinking with your team.) ‘meters 1s the area of the yard it represents?
(With your team, discuss another way of calculating (Be ready to justify your thinking to your team )
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Which group of 3 lengths can be used to form If you slice this cylinder in half from top to| This cube has a surface area of 54 square i 16 we cut a corner off this cube,
what shape will the resulting cross-sectio Select the value that represents its vol what shape will the resulting cross-section be?
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The radius of the larger circle is 10 in. The radius of Cordelia is wrapping a present. Find the surface arca The volume of this cereal box is about 241 Felippe wants to find the area of this trapezoid,

5 in. How many square inches is the area of the sl she can be sure to cut a big enough piece off the roll o The height and width of the box are sho ‘Which formula will yield the correct answer?
What is a close estimate of the depth of the|

[Your partners have the same letter answer as| [Your partners have the same letter answer as| [Your partners have the same letter answer as| (Your partners have the same letter answer as you do.)
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ANSWER

The diameter of the larger circle is twice a
as the diameter of the smaller circle.
How many times bigger is the area of the larged

ANSWER

Suppase you cut through this square pyramid par;

What shape would the resulting cross-sectid

(Your partners have the same letter answer as|
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The velume of this right triangular prism is
How many centimeters is the height of the
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On the architect’s plan. 2 cm represents 5 freet.

If the actual measarement of the width of a room is 10 feet.
how many centimeters wide is the room on the architect’s plan?
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Select the expression that correctly represents the
surface area of this triangular prism.

[Your partners have the same letter answer as you do.)

e 4

The surface area of this cube is 54 cm?.

How many centimeters is the length of the side of the cube?

{Be ready to share your thinking with your team.)
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ks these three lines will form a b Sally says the volume of a triangular prism can be ca Ashton looked at the above figure and said that angle Celia says that the area of a triangbe is always 42 the length of
Do you agree with Rafe? (Answer “Yes™ or plying the arca of the base by the height of the pris Do you agree with him? (Answer “Yes™ or' the base times the height. She justifies her thinking by saying.
(Answer “Yes" or ‘No") (Be ready to explain your thinking.) “Any triangle is half of a parallelogram”
(Be ready to explain your thinking.) {Be ready to explain your thinking.) Do you agree with Celias argument? {Answer “Yes" or "No')}
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Marie says a triangle can have more than one ob Edwin cut through a square pyramid like this, He Katherine says that the way to find the circumference Rashawn says that angle x must measure 120 degrees.
Do you agree? Answer “Yes”™ or No” cross-section will be in the shape of a triag multiply the radius by 7T Do you agree wit Do you agree? (Answer “Yes” or ‘No”)
Do you agree with Edwin? Answer “Yes" o {Answer "Yes” or "No”)
(With your partners, discuss why or why (With your partners, discuss why or why (With your partners, discuss why or why (With your partners, discuss why or why not.)
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The surface area of a square pyramid is Given these intersecting lines, how many de The area of a circle is 785 m?, Peter presents a puzzle: The length of a rectangbe is twice as long as the
How many centimeters is the height of a s does angle x measure? How many meters is its diameter rounds width, The perimeter of this rectangle is 30 cm. The arca is 50 cm?,
to the nearest whole number?
How many centimeters is the length of the rectangle?
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What letter cholce best describes the rig
transformation shown in this diagram
[Your partners have the same letter answer as

Look at this diagram and identify the
type of rigid transformation it shows,
(Your partners have the same letter answer as|

Triangle ABC has been translated to triangle]
Select the steps that describe this translat]

Select the best description of steps taken to transform
the pre-image, ABCD, to the image, AFCLY,

(Your partners have the same letter answer as| {Your partners have the same letter answer as you do.)
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(Triangle ABC ks a right triangle and /ls para

How many degrees does angle ¥ measure?
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{Be ready to share your thinking with your
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Mark wants to make a sandbox in the shape of a
‘One leg of the triangle is 16 foet and the other |
How many feet will the hypotenuse of the tria

From Sara's house {H) to the library (L) is 1
and the distance from the library 1o her school (.
How mary miles is it from Saras house to her|

The area of the base of this right cylinder is 16n
The volume of the cylinder is 1005 cublc
How many units is the height of the cyling

L, is paralled to L, and T is the transversal forming the angles.
How many degrees does 2 x measure?

(Your partners have the same answer rounded to the nef
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These two triangles are similar.
How many degrees does £ ABC measurd

A fire has started on the roof of an B0-ft tall b
How mary feet away from the building should ¢
of the fire truck’s 100-ft ladder be placed so the

ladder will reach the roof of the building
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Select the true statement, Assume that the cone

are equal in height and have bases that ane

[Your partners have the same letter answer as|

‘What volume of water will fill this cone to the top w
{(Your partners have the same letter ans

Select the answer that best represents the volume ol
[Your partners have the same letter answer as|

The diameter of this basketball is 9.5 inches.
Select the answer that best approximates its volume.

(Your partners have the same letter answer as you do.)
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{Your partners have the same letter answer as| (Your partners have the same letter answer as| select the answer that represents the length of AR
(Your partners have the same better answer you do.)
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